
    Resp Ratio = 3.10e-002 * Amt + 9.05e-003
Coef of Det (r^2) = 0.999   Curve Fit: Linear
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R = -6.28e-006 A*A + 1.27e-003 A + 3.81e-004
Coef of Det (r^2) = 0.998   Curve Fit: Quadratic
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    Resp Ratio = 2.39e-001 * Amt + 3.09e-002
Coef of Det (r^2) = 0.996   Curve Fit: Linear
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    Resp Ratio = 6.72e-002 * Amt + 3.14e-002
Coef of Det (r^2) = 0.998   Curve Fit: Linear
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    Resp Ratio = 3.19e-001 * Amt + 3.22e-002
Coef of Det (r^2) = 0.996   Curve Fit: Linear
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    Resp Ratio = 2.23e-001 * Amt + 1.44e-002
Coef of Det (r^2) = 0.995   Curve Fit: Linear
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    Resp Ratio = 1.03e-001 * Amt + 6.40e-002
Coef of Det (r^2) = 0.991   Curve Fit: Linear
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    Resp Ratio = 1.09e-002 * Amt + 1.46e-002
Coef of Det (r^2) = 0.992   Curve Fit: Linear
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